339.9 340.0 360.0 380.0 400.0 420.0 440.0 460.0 480.0 500.0 520.0 540.0 560.0 580.0 600.0 620.0 640.0 660.0
kg 359.9 379.9 399.9 419.9 439.9 459.9 479.9 499.9 519.9 539.9 559.9 579.9 599.9 619.9 639.9 659.9

0.0 0.0 1.0 0.0 0.0 0.0 1.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 1.0 0.0 0.0 3.0
C-D)C-)D)C=-D1C=-D1C=-H[C-D[Q0OD[C-)|C=-I)C=-)C=-)C=-D[C=-D]C-D]C-D)C=-DC-=-HC-) 478.3
( 0.0)| € 0.00] (33.49] ( 0.0)| ( 0.00| ( 0.0)] (33.3)| ( 0.0)|  0.0)] ¢ 0.0)| ( 0.0)| ¢ 0.0)| ( 0.0)| ( 0.0)| ¢ 0.0)| (33.3)| ( 0.0)| ( 0.0)| (100.0)

0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 1.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 1.0
C-D)C-)D)C=-DC=-DC=-D[C=-D[C-D[C-DC=-DC=-)C=-D)C=-D[C=-D]C-DC-D)|C=-D)C=-)C-) 537.6
( 0.0 € 0.00] ( 0.0 ( 0.0)| ( 0.00|  0.00| ( 0.0)| ( 0.0 ( 0.0)|  0.0)| (200.0)| ( 0.0)| ( 0.0)| ( 0.0)| ( 0.00| ( 0.0)| ( 0.0)| ( 0.0)| (100.0)

0.0 0.0 1.0 0.0 0.0 0.0 1.0 0.0 0.0 0.0 1.0 0.0 0.0 0.0 0.0 1.0 0.0 0.0 4.0
C-)C-D)[C-DC=-DC-D]C-D[A0O)C-)C-D)C=-DC=-D[C=-DC-DC-=-D)C=-DC=-D]C=-D1C-) 493.1
( 0.0)] € 0.00] (5.00] ( 0.0)| ( 0.0| ( 0.0)| (5.0)| ( 0.0 ( 0.0)| ( 0.00| (25.0)|  0.00| ( 0.0)]| ( 0.0)| ( 0.00| (25.00| ( 0.00| ( 0.0)| (100.0)




5 5 3
339.9 340.0 360.0 380.0 400.0 420.0 440.0 460.0 480.0 500.0 520.0 540.0 560.0 580.0 600.0 620.0 640.0 660.0
kg 39.9| 37.9| 3.9 419.9| 40.09| 450.9| 49.9| 499| 5199| 59.9| 509.9| 59.9| 59.9| 6199 639.9| 65.9
0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 1.0 1.0 1.0 0.0 1.0 0.0 0.0 1.0 0.0 5.0
C-)D)C-)D)1C=-D1C=-DC=-D[C=-D[C-D[C-D]C=-)C-)[QA00D(C-D)]C-)]@00)|C-)|C-)C-)C-) 564.4
( 0.0)|  0.00] C 0.0  0.0)| ¢ 0.00| ( 0.0)| ¢ 0.0)] ( 0.0)| ( 0.0)] (20.0)| (20.0)| (20.0)| ( 0.0)| (20.0)| ( 0.0)| ( 0.0)| (20.0)| ( 0.0)| (100.0)
0.0 0.0 0.0 0.0 0.0 0.0 0.0 1.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 1.0
C-C=D]C=D[C=DC-D]C=-D]C=DC=D[C=-D]C=DC-D]C=D{C=IC-DC-D[C-DC-)|C-)| .0
( 0.0)]  0.00] ( 0.00]| ( 0.0)| € 0.00| ( 0.0)| ( 0.0)| (200.0)| ( 0.0)| € 0.0)| ( 0.0)| € 0.00| ( 0.0)]| ( 0.0)| ¢ 0.00| ( 0.0)| ( 0.0)| ( 0.0)| (100.0)
0.0 0.0 0.0 0.0 0.0 0.0 0.0 1.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 1.0
C=-)C-D)C-D)C=-DC=-D[C=-D0C=-DC=-D)C-DDC=-DC=-D[C=-D)C-DC-D)C=-DC=-D)C=-D1C-) 478.9
( 0.0 € 0.00]  0.00]| ( 0.0)| ( 0.00|  0.0)| ( 0.0)] (100.0)| ( 0.0)| € 0.00| ( 0.0)|  0.00| ( 0.0)| ( 0.0)| ( 0.00| ( 0.0)| ( 0.00| ( 0.0)| (100.0)
0.0 0.0 0.0 0.0 0.0 0.0 0.0 2.0 0.0 1.0 1.0 1.0 0.0 1.0 0.0 0.0 1.0 0.0 7.0
C-D)C-D)1C=-D1C=-DC-D[C-D[C-D]@O)|C-)C-)A0DICND|(C-)]AO|C-)C=-DC=-D[C-) 537.8
( 0.00] ( 0.00] ( 0.0)| ( 0.0)| ( 0.0)| ( 0.0)| ( 0.0)| (28.5)] ( 0.0)| (14.3)| (14.3)| (14.3)| ( 0.0)| (14.3)| ( 0.0)| ( 0.0)| (14.3)| ( 0.0)| (100.0)




